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At ERFTTEROBERNRIEZ—HLBWHEEDLH D,

Y AR iERS) B=H [Ekzikax: = BIELE
L5 650 130,249 130,899 117 %
R=E 53,708 53,708 139 %
=1 650 183,957 184,607 122 %
Bfi i kg, M
_ oo oo TSt

x| e g |REAE HEAR TEm Y= w0l =6 TE e
HE|ZTWIA 17,770 | #B% 17,770 |&E#& 10 | 1,728 | 1,512 | 1,404

FE 10

By 10

AN 40 | 4B 40 |TFE 0.8

ES 5

BH 0.8
ICA LA 11,850 | #Ext 11,850 | T 10 | 2,268 2,160 | 1,836
Ik 10 | 2,376 | 2,160 | 1,944
&b 10 | 2,376 | 1512 | 1,188

F Y 8,460 |1 AAL 230 [FE 10
/e 10 540 432 324

BH 10

GiEDS) 8,230 | T 10
Ik 10 | 1,080 216 108

By 10

L &2 2,327 | Y AAL 50 | K% 10

5 10

BH 10 324

GRS 2,277 | R% 10

5 10
b 10 540 432 324

iF<En 500 (&Y AL 50 | K% 15

B30 15

B Hb 15

=P 450 |R% 15

Z 15

B 15

ZEDKR 585 | W AtL 35 |2k 0.2

B 0.5

£ 0.5

GERS 550 | 2RIk 0.2 43

HR 0.5

B 0.5

EFI>NAZ D 1,628 | &Y AAL 60 |F5 0.2




SHTE06 8148 (LER) 13K115H

HIFTHE - @&
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Bifif : kg, M
o P PN R EIFEAmIE
¥ w4 HFEHE |RFTHE HEARR IEm ey AN s &
Z 0.2 97 86
By 0.17
X 1,568 |Bt5% 0.2 108
ZiH, 0.2 76
Ry 0.17 108 86 76
hE 1,316 | 4%t 1,316 |2 5 2,160 1,404
FE 5 2,700 [ 2,160 | 1,620
£ 5 810 540
Zoyay— 1,413 | #8xd 1,413 | K% 6
JuiE 6
B 4
BN, 10,075 | W AAL 15 |35 5
BE 5
By 5 1,944
GEpS 10,060 |55 5 1,836 | 1,080 972
BE 5 2,160 | 1,836 | 1,404
Z b 5 2,700 | 1,944 | 1,620
MED % 8,000 [& W AAL 90 | X ¥+ 10
=) 10
By 10 | 2,700 2,160
GEpS 7,910 [x*F> 3 10 | 2592 | 2484 2,268
BB 10
BH 10 | 1,728 1,620
ANCH 4,879 | W AR 35 |&A 0.4
5 0.4
By 5 1,620 1,512
iEpS] 4,844 =450 0.4
5 0.4 238
& 5 1,728 | 1,620 | 1,296
k< b 7,657 | A% 7,657 [#A 4
REA 4 1,728 | 1,296 | 1,188
By 4 1,944 1,296
IZhkw b 976 | Xt 976 [REA 3 1,944 | 1512 | 1,296
i, 3 1,620 | 1,296 | 1,080
& 0.2 162 130 108
E—< 7,137 | 8% 7,137 |Z 0.15 108 103 97
=N 0.15
By 0.15 97
ESHAZL 4,035 | 8% 4,035 |k, 5 2,484 | 1,728 | 1,620
FE 5
£ 5 2,160 | 1,944 | 1,728
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Bif t kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#{w% —
FEHR aniE Hi| =fE B =&
WAITA 164 | #Ex 164 | T 2 2,484 1,620
ZiH, 2 2,484 | 1,404 | 1,080
Ry 2 2,700 2,160
2FyTEZAES 200 | #8xd 200 |B& 2 2,484 | 2,160 | 1,404
ES 1
B 1
T E® 30 | 4B 30 [=4 4
TR 4
B 4
BECFNAES 15,570 | #8xd 15,570 |Ri& 10 | 2,160 | 1,512 | 1,404
GEE 10
=82 10 | 1,080 864
T-EFhE 8,320 | #@xd 8,320 | 20
= 20 | 3,132 | 2,808 | 2,592
BH 20
pk:9) 1,299 |V A#L 54 | &L 10
PSS 10
By 10
X 1,245 A8k L 10 | 14,040 | 12,960 | 9,720
5 10
i 10
Z DMEF R 16,668 |& W A#L 31
GEpS 16,637
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B kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#{m% —
FEH aniE Hi| =fE B =&
REIVAZ 2,000 | BN 2,000 | EF% S L 10 | 5,616 5,400
H b 116 | #8xt 116 [1LzY 1 1,404 1,296
25
B 4 4,320 2,592
ERRES) 137 | #Bxd 137 |LE 0.5 594
AR 0.5
By 0.5
ERSCYIES 845 | @ 845 [1LFE ks | 018 864 756 540
& i SR 0.2 756 648 540
TXAUH e 8
HES 25 | #Ext 25 | KBx FZx7 |03
BiR FT7IxT | 2
£ T T | 2
T—ILZ A0V 130 | #B% 130 |F%hH 1
e 8
By 9
kX O 7,993 | AN 7,993 (2R3 5 2,700 | 2,484 | 2,376
Fz= 5 3,564 | 3,024 | 2484
BH 5
gAv—A0y 995 | #Bxd 995 |ZkH 5 3,456 | 2,160 | 1,944
iz 5
By 5
TYTFAXAV 7,400 | B 7,400 |ZRIE 5 3,240 | 2,700 | 2,160
i 5
BH 5
ERAYA 20,917 | #Ex 20,917 | T 15
REA 15
By 15.5
ZREETLH 360 | AExE 360 |, 8
5 8
BH 9
< d— 36 | A 36 |=lE 1
Dotk 1
i 0.4 | 1,404 | 1,080 972
ZDRE 12,754 | 48 12,754
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